A & 0l & AHSH Z Ml A
SN MESEY
M HASEO | FZMEDE
oot HASZQ o2I0iA(AB200I2SHa) (crol: 1)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
MET T 759,170 718,170 41,000
= 603,760
Al 150,940
- 4,470
MNASSFE DI =yEsd 759,170 718,170 41,000
= 603,760
Al 150,940
- 4,470
MNASF0 A230XH(A2S0II=SE3AH) 759,170 718,170 41,000
= 603,760
Al 150,940
- 4,470
220 Y3 16,854 16,854 0
= 13,483
Al 3,371
201 Zer2dd| 9,322 7,034 2,288
= 7,457
Al 1,865
01 At2t2l bl 9,322 7,034 2,288
O2zzgd2c|Al W=l 1,200,000 1,200
= 960
Al 240
Oofgg0&d =88 & =2
7,702,000 7,702
= 6,161
Al 1,541
Oc2a0yoRIds 2+
420,000 420
= 336
Al 84
202 Oddl 6,732 9,520 N2,788
= 5,386
Al 1,346
01 2LHOHI 6,732 9,520 N2,788
O S 02elAt S0
260,000 «3H x 122 *7(fb 6,552
= 5,242
Al 1,310
Ot&lE ~XAE) &0l 0|
180,000 180
= 144
Al 36
203 BR=4| 800 300 500
= 640




SN ME

S2&0
M HASEO | FZMEDE
Chel: HASZO 920X (ABS0IISSL3IH) CEE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
Al 160
03 A=A E R=AH| 800 300 500
(OXI=a=10: DNL-ZRWAELESN 800,000 800
= 640
Al 160
SRSHAHAY 737,846 696,846 41,000
= 590,277
Al 147,569
307 212t01 & 737,846 696,846 41,000
= 590,277
Al 147,569
012 & 2/=H 737,846 696,846 41,000
Oslss0AIEI 630,020,000& 630,020
= 504,016
Al 126,004
OAdZdaF I 107,826,000 107,826
= 86,261
Al 21,565
oigid 4,470 4,470
801 OilHIH] 4,470 4,470
01 & EH0ilBIbI 4,470 4,470

Oodisl 4,470,000& 4,470






